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Ch. 6.7 — Inverses of Functions
function. State whether the mverse is a function

12, 0.2), 3.0} 4eS = {3:-2)-(4 “1),1,0).G:0} NO

a Find the inverse of each relation. Sta hether the relation is 8

Lo {(2.-3).(3.-4),(4.-2) 2. {(-3.-6).(- S
52, (43 24k 4(-e3) (z o (2,0 (€3)
2 )( S 2 %Cza} (-1,4) (O.\)C&ls)é

Given the domain and range of a relation, state the domain and range of jts inverse. . 2} .
4. Relation: D={x:x>0}, R={»: y<-3} s Relation: D={x:x=5}, R= {y:y f)

Inverse: D= (d,_/:-z) R= X>O Inverse: D= %'-7!-2- R*X#‘S

-

For each function, find an equation for the inverse, f (x) s the inverse a function? [Hint: follow the 4 step process I your notes.}

6. f(x)==2x~17 1. f(x)—i-”“—8 5. f(x)= §x -5 0. f(x)=%(x+2)-3
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Use composition {0 verify that fand g are inverses. [Hint: show that b (g(x)) =x AND g( ¥ (x)) =x.] Label your work.

’ 10. f(x)=-2x-7 and g(x)=—%x-3% 11, f(x)- HES g(x)=3x-8.
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4 6.9): no,yes; yes, yes; yes,no; £ (x) =3x-8; f7 (¥) =2+ 43 £ (x)= 34135 £ (x) =—x -1
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; , OT graph the inverse.
Vo Yon MM atuph s facslom.e Use the HLT to determine whether the inverse is a function. Do NOT gra ;

; 7-2x Y
12, ,/(x)ul—xz y 13, g(x)= =
A 5 - , KE”
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ot 0 Y Is @ l
| o funcrion -
function !
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14. g(x)=3 e 15. f(x)=x &
T 2 . =
< = - < 5
s mor Is a J
0 function! V functon !
16. Glven the graph at right. ¥ . 7
#) State the domaln and range, : -
D = {(~ 05, @) ” ;d»—? <
N\ -
R=([0, 00)
b) Is the relation a function? . Explain using a complete sentence - i: :______LA
" Passes VLT AT
P2
¢) Sketch the inverse, Draw in the symmetry line (use color), -
d) Stats the domain and range of the Inverse,
D={ [b; OO)
R={ (- 00, o)
¢) Is the Inverse a function? ,,[\_I(L Explain using a completel sentence,
Does not pass VLT
Originad  cloes not pass H LT
13¥ELY: no; no; yos; yes; {x:x20}; {x: s iy 8 Jig | "
o {[O 00)} {'a:efo}) {y ik {y'ye"a}i no; yes !
I ' [o, 00) (- %, 00) ‘
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